L

08=0IX%X8

¢L=6X%X8
¥9=8X8
96 =.X8
87 =9 X8
OF =G X8
cE=¥Xx8
v2=€X8
91=2X%8
8=1x8
0=0X8
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9x0=0
O9x1=9
Ox2=18
9x3=27
O9x4:=36
9 x5=45
9x6=54
9x7=63
9x8=72
9x9=281

9 x 10 =90
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0L=0I%/.

€9=6X%XL
96 =8X /L
67 =L XL
er=9X/
GE=GX /L
Be=vXxX/.
[2=€x/.
vl=2%X/.
L=1X/
0=0Xx/1

S

09=01%9

7G=6X%X09
8 =8%9
cr=.LX%X9
9E=9X9
0E=G6X9
ve=vXx9
8l =€X9
¢l=2X%9
9=1X9
0=0X9

Z3p 3[qoL

Les tables de
multiplications
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14

0G=0IXg

Gr=6X%X4G
OF=8XG¢G
GE=LXG
0E=9Xg
G2=G6X¢G
02=¥Xg
GI=€xg
Ol=¢Xxg
G=1Xg
0=0X%X¢G

3x0=0
3x1=3
3x2=6
3x3=9
3x4=12
3x5=15
3x6=-18
3x7=21
3x8=24
3x9=27

3x10=30
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4x0=0
4x1=4
4x2=8
4x3=12
4x4:-16
4 x5=20
4x6=24
4 x7 =28
4 x8=32
4 x9=36
4 x10=40
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